off

e A 4

g4 (7)) ~ (eh) el g zpgo|r}

o Zh~(he] F3A= 25 2 Ady Ao it

o UbE AE-FA2F Agt adll 94, Wb+ 44 B}
bell of&ll, (th W3f-4dF Do} doll ofsf AA =k

o P9 {72 AaBBDde] 3, Q2] f-41A18-> aaBbDde|t}.

o TEPo Qo AE I ~VellM t3+44 A a B b D, d
% 37N°] DNA Adzks vt 3h& vehd Zleok 1~V
ZF 20 POl Alze|ar, 7] e QY] Alxze|ch

M DNA AfCHzkES st 2t
* [TAtBtd | Atbrd | atB+D

I 4 ® 8

I ® 0 3

m 4 2 4

v 3 2 ©

v 0 2 4
@+®+©O©+? (v, Fdddole}l maE  a8ElA
rowl A a B, b, D, d 77 1713 DNA

e 10]}h)

HH| e(A+a+B+b+D+d)0| DHSOE
.ol (A+b+d)2t (a+B+D)E CiSHH T
HE mofet £ QUCE FAof| FoT
SUMAC| USBE, 2F AD|EE JHEe TN &2
A+a+B+b+D+d2| af2 2n/2 MM 6,
2n/4& 12, n/2&= 6, n/1& 30|CtL

oo 2 4

4n ¥ ©
rlo
H
4n

MI ToIM A &2 %4 8 O[40|22, 12 2n/4 MZO|CH
ol a+B+D2| 22 PO 2n/4 MEONM 8 Q29 2n/4
MIojM=  80I|Ct  a+B+D2l #TCEE= ROl OZLL]
A+B+del = M2BHELCE Pl 2n/4 MEOMAE 801, Q9
2n/4 MZO|ME 40[Ch olof] M2t 12 Q2 AMZo|H, HA|
22 120|122, A+b+d2| 242 12 - 8 = 40|C},

LA MEZEE o§gsto| fIBHM, P2l 2n/2 MERt 2n/4 MIZZOj|A

HO| 0| Ot JkserX], Q2 2n/2 MESLE 2n/4 MZEOHA
Ho| o] Lopt JtserA| FdE = OiEE Al=dts 20|

SEHOICE 2f MESOIM BEO| 3tE FoilFH Chgah 2Lt

M DNA ATHEHS st 3t
A+B+d A+b+d a+B+D
P2] 2n/2 4 2 4
P2l 2n/4 8 1 8
QeI 2n/2 2 2 1
Q2] 2n/4 4 4 3

P MESD OE 20| 20l= MIZS| HY2 2F nE &€ +

QUCH M2t MZE T, IV, V=2 2t2f n/1, n/1, n/2 AZ0|C}

MZ D= n/l MEZQIE a+B+De| 20| 30|E=, a, B, D2
DNA U0 2% 12 ZCh Mk iy MZol= a, B, D2t
AZtE FAHOF ACE

MEZ Ve n/1 MZolH A+B+del 20| 30|22 A, B, d9
DNA Atizo| B 12 2T} mEtM sig MZol= A, B, dt
IEHE AMHPE QUCE olof M2l VE Pel M|Zo|H, pel it
Efl= ABd/aBDOICt

MZ Ve n/2 MZUH A, B, d7t 25 81QB=, a, b, DO
DNA HCHFO| 2& 20[Ch 2t VOl= a, b, D7t At
GMHPE A2BZ POl MEY = g1, QO MZO|C}. o[
mteh Qo gt HEH= aBd/abDO|C.

oet W2t pol MEO|L, T~V & = Q2 MEats =20

Osif 1, m, V= Q2 AZo|Ct.
M2 Q9 MEQIH|, 2n/2Lt 2n/49] MIZQF #EO| 0| Ct2E=2
Me n/2 MZOICE,

mollA  A+B+de| 40|10, A+b+del
DNA ATHO| hel DNA ATHYECE 2 2
M2 n/2 MEOCIEZ, MOA BS| DNA ACHES 20|Ct kA
me QO ¢ HEWS Sl a, B, d?t HBHE FMHD} UCt=

— [ == Ry |
2 e 4 ULk

to
HA'T

20|22 B9

o

—_

S ot A O
s € = Ut

HI2tE & J5HH Chaob 2
_ DNA AMrohzFs st 2t
MZ
A+B+d A+b+d a+B+D
1.2n/4, Q 4 4 8
o, n/l, P 1 0 3
m, n/2, Q 4 2 4
IV, n/l, P 3 2 1
V, n/2, Q 0 2 4

@E 4, b= 1, ©O= 10|22 k= gf2 60|Cf.

- 116 -



